ST UDY LCENTRE

PROFIT & LOSS Worksheet
BOOK SOURCE SPLIT UP
S.No TITLE STD NEW OLD | TERM Exercise
6th NEW 2 3.1, 3.2
7th NEW 3 2.3
Profit & Loss 7th OLD 3 24
8th NEW 2 1.1
8th OLD 3 1.1
R.S. AGGARWAL Page No: 374 - 425
(2020 Edition)
Profit and Loss:

Cost Price (C.P)
The amount for which an article is bought is called its Cost Price (C.P)

Selling Price (S.P)
The amount for which an article is sold is called its Selling Price (S.P)

Profit or Gain

When the S.P is more than the C.P, then there is a profit or gain.
Therefore, Gain/Profit =S.P - C.P

Loss

When the S.P is less than the C.P, then there is a loss.
Therefore, Loss = C.P - S.P
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It is to be noted that the profit or loss is always calculated on the cost
price.

Formulae:

i. Gain or Profit% = (Péoli't

xlOOj%

ii. Loss% = (ﬁxlooj%
CP

110,
iii, S.p, = {L00+Profit) . op (orycP=|— 20 __|sp
100 100 + Profit%
_ 0,
iv.g.p = 100-Lo%) , cp (oryCP=_ 10 sp
100 (100 — Loss%)
Discount:

In order to increase the sale and also to clear the old stock during the month
of Aadi and festival seasons, shopkeepers offer a certain percentage of rebates
on the marked price of the articles. This rebate is known as discount.

Marked price

In big shops and departmental stores, we see that every product is tagged
with a card with a price written on it. The price marked on it is called the
marked price.

Based on this marked price only, the shopkeeper offers a discount of certain
percentage. The price payable by the customer after deduction of discount is

called the selling price.

That is, Selling Price = Marked Price - Discount

Work Sheet

Level -1

1. A table is bought for Rs.4500 and sold for Rs.4800. Find the profit or

loss.
o Guengwmergl op 4500 &H@& eumhsIULG ap 4800 &G aIBsLILGHBS
G160 BGVTLILD BIGLEVGHI BL L LD HTC0TS.

a. Rs.3000 loss b. Rs.300 profit c. Rs.300loss  d. Rs.800 profit
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Pari bought a motor cycle for Rs.55,000 and he gained Rs.5500 on selling

the same. What is the selling price of the motor cycle?

umfl T o hal euemigenwl h 55,000 &@& eummd dp 5500 SeoTudHHBE
alBuemeT QFUISTT 6Taled 2 hg eueanriguilel aliLeneT allenev 6l6iTenT?

a. Rs. 60000 b. Rs. 60,500 c. Rs. 61,500 d. Rs. 49,500

Valarmathi sold her pearl set for Rs.30,000 at profit of Rs.5000. Find the
cost price of the pearl set?

QleNTng  Hetaienl W (P H3g  remevenwl ¢ 30,000 & ealBumer GQFuigl,
oIFHamed  @eorud ap 5000 CUBIBBTT elelled (IPpHHI  OTENEOUNT  DIL_SHb
AleMEVENUIS  HTENISb.

a.Rs. 25,000  b. Rs.35,000 c. Rs.38,000 d. Rs.40,000

A shopkeeper buys three articles for Rs.325, Rs.450, Rs.510. He is able to
sell them for Rs.350, Rs.425 and Rs.525 respectively. Find the gain or loss
to the shopkeeper on the whole?

@@  lBUmeTWITenT clpeityl GUT(HL Hewerm ep 325, ap 450 wmpid ap 510
oTe0l  QUTRIGEHIBTT. SleuBens (wempGuwi ap 350, ep 425 1wmpmid ep 525 eten
alBUemeT OFUISIBAT. SleuhHenLul OITSHs EEUTLD SHIVEVH! BLLLD SHT6IH.
a.Rs.10 gain  b. Rs. 5 loss c. Rs. 15 gain d. Rs. 20 loss

If Guna marks his product to be sold for Rs.325 and gives a discount of
Rs.30 then find the S.PP?

G Heigl Gummenen ef 325 et GHBHH ap 30 Hei@puiguied almLemeT
CFWISSIBIT 61660, alBLIMET 6lenEVENUISH SHTEwIH.

a. Rs. 295 b. Rs. 285 c. Rs. 275 d. Rs. 305

A man buys a chair for Rs.1500. He wants to sell it at a profit of Rs.250

after making a discount of Rs.100. What is the M.P of the chair?

QMHAUT @(H BTBSTeUemW h 1500 &@F eUTRISIITT. HeilenLly ¢h 100 SefH%
West ep 250 @eomud  Oumiomm  elBuemet GFuiw eI T  eTelleD
BTBSTIUIET GNHH alenev 6l6laleTe]?

a. Rs. 1950 b. Rs. 2050 c. Rs. 1850 d. Rs. 1750

Raghu buys a chair for Rs.3000. He wants to sell it at a profit of Rs.500
after making a discount of Rs.300. what is the M.P of the chair?
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818 @M bIBsTledw h 3000 &G UTRIGSBIT.  DIHHTBSTEVU6T
alemeoulled ep 300 Heepuly OFUIH et ap 500 @eomud OUMISMBTT 6leoTeD
SIbBTBETEIUNET GHHD allensv 6166017

a. Rs. 3500 b. Rs. 4500 c. Rs. 4000 d. Rs. 3800

A man bought 75 mangoes for Rs.300 and sold 50 mangoes for Rs.300. If
he sold all the mangoes at the same price, find his profit or loss?

aum ep 300 &@ 75 OTDUPHIGMET UTHIS DjuBsled 50  LOTDLILPHIGHEDEIT
ah 300 &@ elBuemer OFUISHTT. weIHEH  LOTDLIPHIGMUD  DCH
alemevuled aIBMTEL UHBEIB EEVTLLD DIeV6VGHI BLL LD HTEWISH.

a. Rs. 150 profit b. Rs. 50 loss

c. Rs. 25 profit d. Rs. 100 loss

Mangai bought a cell phone for Rs.12585. It fell down. she spend Rs.500

on its repair. she sold it for Rs.7500. Find her profit or loss?

RIS @ mevBudlenwt p 12585 &G oummSemT g SO al(phal
LTS el Lgl. SemadpF gi QFuiw qp 500 GFeve CFUIH DiwFH DiaUT h
7500 &@ alBuUmeT CFUISTT. DleU(HEDL Ul ST SIeD6VHI HL LD SHT6wISH.
a. Rs. 5500 loss b. Rs. 5565 loss

c. Rs. 5585 profit d. Rs. 5585 loss

An electrician buys a used T.V for Rs. 12,000 and a used fridge for Rs.
11,000. After spending Rs. 1000 on repairing the T.V and Rs. 1500 on
painting the fridge, he fixes up the M.P of TV as Rs.16,000 and that of
fridge as Rs. 15,500. If he gives Rs. 1000 discount on each find his profit
or loss/

@ eTeudhl fFlwer LwWeaTUGSHIULL  OHTmevHSTUFI  CULY  @eTenBuLD,
GoMiTgnHerl QUL eealempud (WeBGW ¢h 12000-d@GW, ¢p 11,000 &HGLD
AUTRISEITT. OHTemevdssT FUI  Culiyedwd gf  OQguiw  ep 1000 o 1b,
GoMiTgnHerl QUL I9HE euemienid OFuIw ¢ 1500 2 1b GFevey OGFUIH L6t
OpTemevdhaT & Ul isg a 16000 wBmid GelT gFrHens ULl igdhE b
15,500 ete01  allemev MHiTewiwid OCFUISHTT. Beneu @elCeuTaIiBIS@GHWD oF 1000
HolEpLIY  @aIOTETEIBEGLD  CFUISTT 6leNed SjUHMLW G0 D606V
BULLD SHTewIb.

a. Rs. 2000 loss each b. Rs. 2000 profit each

c. Rs. 2500 loss each d. Rs. 2500 profit each
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Level-2

11.

12.

13.

14.

15.

Sanjay bought a bicycle for Rs.5000. He sold it for Rs.600 loss after two

years. Find the loss percent?

Febxuwl WHeuewigenwl eh 5000 &H@G UTHISTT. @Fenwi(h QUHLEISEDHDHE
UB&, p 600 GeomHDH IBBTT. eleled WGHeuewiguiled BLL FHHHMHD
SITE0I .

a.10% b. 8% c. 18% d.12%

Hameed buys a colour T.V. set for Rs. 15,200 and sells it at a loss of 20%
what is the selling price of the TV set?

amlSgdl  @@h  euemienld OFHTMevSSTL S  Guigedw ap 15200 &G
QTR &) GOTBITT. BFHemet 20% Bl LSHBS NMBMITT eT6uTlev,
DIHOHTmLHBTLFI1 O 1Igulledt alBLIeN6T al6n6D 61631601 ?

a. Rs. 12, 360 b.Rs. 12,260  c.Rs. 12,160  d. Rs. 12,460

A scooty is sold for Rs. 13,600 and fetches a loss of 15%. Find the cost
price of the scooty.

@@ gl el ap 13,600 @ elBumer OGFuiupOuUTIpsl 15% B LD
FBGH! 6160160, DIHGT 2_6WI6ND AT6MEV 61631601 7

a. Rs. 15000 b. Rs 16000 c. Rs. 18000 d. Rs. 12000

Vinoth purchased a house for Rs.27,50,000. He spent Rs.2,50,000 on
repairs and painting. If he sells the house for Rs.33,00,000. What is his

profit or loss%?

R el alGeimd ep 27,50,000 &H@ euThHeNTT. DT eilewL &
CeWIeusdmaTH h 2,50,000 23 GFeualBaHIBTT. ObHH il enl p 33,00,000 &G
AIBHIBT. eT6led, @0l (&) BLL FHAIHHMHS HewlBLILIQSHBALD.

a. 15% loss b. 5% profit c. 20% loss d.10% profit

A fruit seller bought 8 boxes of grapes at Rs.150 each. One box was
damaged. He sold the remaining boxes at Rs.190 each. Find the profit /
loss percent?

@@ up elwrumfl 8 Guily HIT engsemen, e GQULl ep 150 6B aiHld
QUTRIFIITT. SIF6L @ Oully Hmleng s IGHBEH. LOH(peiTen
QU Eemem @ OGully h 190 & almevdd aIBEBTT. @eoru / BUL
FHAHHMNHDH HTEWIH.

a.10.83% profit b.16% profit  c.15% loss d. 14% loss
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16.  The cost price of 11 pens is equal to the selling price of 10 pens. find the
loss or gain percent.
11 Cuemdseier oL dbsalmev 10 Guemsseaiar alBp  almevdbGHF FLoLb.
GTN60 BV IV Bl L FHADHHMBHH HT60IH.
a. 5% profit b.10% profit  c.10% loss d. 20% loss

17. A bicycle marked at Rs. 1500 sold for Rs. 1350. what is the percentage of
discount?
QM WFHleueswiguilest alewev cf 1500 oIdImI GHMISSHLILL(H6iTengl. EFHenedr
13506@ alIBBTed SH6lEpLIY FHOTHLD 616160 ?
a. 10% b. 20% c.5% d. 25%

18. The list price of a frock is Rs. 220. A discount of 20% on sales is
announced. What is the amount of discount on it and its selling price?
T 2 enLule ulgusd alemev ap 220. @isHear alBumeruied 20% sHeimemLIg
oty olalsasliul (heteng o el ullelr Ged  HeiTEmLIY eT6laleTe]?  DISH6T
alBLemeT allensv 616316017
a. Rs. 44, Rs. 176 b. Rs. 54, Rs. 166
c. Rs. 74, Rs. 156 d. Rs. 44, Rs. 186

19. Sara baked cakes for the school festival. The cost of one cake was Rs.55.
She sold 25 cakes and made a profit of Rs.11 on each cake. Find the
profit percent?
o Ueteluller alpmelBsres gmm, Gssds OFuisTeT @ Caédlar D&
aledey h 55 GD. eueT @elleumm GsHemauld p 11 SeoTuHHMBE)
alBaIpTet. 25 CadbGamen aIBBSIHHSTEO HMLEGD BTl  FHaiHmd
HITGTEb.
a.20% b. 25% c. 30% d.15%

Level- 3

20. A shopkeeper allows a discount of 10% to his customers and still gains

20%. find the marked price of an article which costs Rs. 450 to the
shopkeeper.

QD(MH BOLSBMIT Heil aUTIpHMGBWLTeNTHEHHG 10% Hel@pLiy Hbhaid, 20%
Beumud  DIEDLHBTT. @  OQumhefler o ewieno afemwev ¢ 450  eTerfleD
SIouTmefler GNHSH allensvenuld SHTeIH.

a. Rs. 600 b. Rs. 540 c. Rs. 800 d. Rs. 900
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21.

22.

23.

24.

25.

Find the single discount which is equivalent to two successive discount
of 25% and 20% given on an article.

@@ Gurmeflear WBa eupmsiUBD B OFHTLT HemepUgseT (WpewmBui 25%
ppd 20% eefey, BBHMSHF FWOWOTAT HeTEHLUQTF FHAIHHHM6DH HTCwIH.
a.20% b. 30% c. 40% d. 50%

A trader buys a article for Rs. 1,200 and marks it 30% above the C.P’. He

then sells it after allowing a discount of 20%. Find the profit percent.
@ elwrumfl e Oummener ¢h.1,200 euTmISEITT. Ll SHIH6T L SHBaImeVDHE

Guwed 30% oFB0TE GHHB DAHOHHE 20% HeEpLy OBTBHSDBIT.  aliBn
alleneoulledl eUTL FHOTHLD 61601601 ?

a.5% b. 42 % c. 4% d. 6%

By selling a speaker for X768, a man loses 20%. In order to gain 20% how
much should he sell the speaker?

@1 @allumesdHmw o 768 && olBuste, @@ Bumbss 20%  BHULD
gpuG@ng. 20% Geomub HmLsHH, @ILGLHGHMUL  SeUT 666 alenevsE
alBs Geuewi(hLd?

a. Rs. 1142 b. Rs. 1152 c. Rs. 1162 d. Rs. 1172

A man sold two Articles at Rs. 375 each. On the first article, he gains
25% and on the other he losses 25%. Find the gain or loss percent in the
whole transaction.

RMHAUT B CUTHL Bl @alCeuTatenBuld b 375-d@& IBHGGIWIT. (1pFH6v
Qummeied 25% @evrupd  BOBTEMIed 25% HULID SenL@BIT.  elefled
QTHSH ANWTUTTSHHED GgBULL 60T IVVH! Bl L FHAHHMSDH HTIALD.

a.6 %% profit b. 6 %% loss  c. 8% profit d. 6% loss

A woman bought some eggs at the rate of 4 eggs for ¥18 and sold them
at the rate of 5 eggs for ¥24. She gained ¥90 in selling all the eggs. How
many eggs did she buy?

Q@ Guewt 4 (pLenLdenem T 18 aimd eummid 5 (WLenLdemem I 24 afsbd
B BT6T. TR DMTHSH (P ML Sm6mud alBpdHed ojeeT ep T 90 =
@eomuomall  OUBMTET  6T6N60, SIOUGT RIS (LU DL H6V6 6163016301 HeNSH
6T61I6U61T6Y ?

a. 200 b. 400 c. 500 d. None of these
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Self Practice

26.

27.

The market price of new brand watch is 15% higher than its original
price. Due to increase in demand, the price is further increased by 10%.

How much profit will be obtained in selling the watch? (in %)

QM U SR&EMTHAGE alBLmeT alened DIHT 2 _6wienld almeueamul el
15% oHsb.  Guwad oipar Bxhemeaumwill QuUIHSHEH WewiGld 10% oiHs
alemeuBuBpd CFIWlLLLTe, Sibs SRIMIHmSH alBGH Gurgh Sl sEGLD
QOTHS 6UTLID 6TaleIeTe FHAIHD?

a.25% b. 35% c.26.5% d. 27%

Solution:

According to the formula.
a+b+ (ab/100)%

= (15+10 + 2=2X22) 9
100

= (25+1.5) %
= 26.5%

The cost price of 16 note books is equal to the selling price of 12 books.
find the gain percent.

16 GpTiBl Usssmsaia &S  alemew 12 CpTi®G  YdHoHsmiserer
alBumeT allewevbGEF FIOW. BFHT B6VTL FHATIHHMHDH BTEOTALD.

a33%96 b. 20% c. 25% d. 30%

Solution:
Let the CP of one book be Rs. x
So
CP of 16 books = Rs. 16x

SP of 12 books = 16x (Rs)

SP of one book = Rs 116—2)(

= Rs. ﬂx
3

5
Gain % = 3—><1OO
X
= X 4100
3x
= 3310
3
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28.

29.

30.

A television set was sold for Rs. 14,400 after giving successive discounts
of 10% and 20% respectively. what was the marked price
QFHTLT HemepLigser pedpGuw 10%, 20% eameamy @ CHTmevshHTL S
Ou'sg Camhha Rs. 14,400 &@ oIBslLGSBaH alled DB GHBHD
a1l6n6V 616316017
a.Rs.15,000  b.Rs. 18,000  c.Rs.20,000  d.Rs. 25,000
Solution:

Let the M.P be 100

First discount = 10%

=10 x100=10
100

S.P after the first discount = 100 - 10 =90

Second discount =20% = %x90 =18

Selling price after second discount = 90 - 18 = 72
If S.P is 72, then M.P is 100 when S.P is 14,400

M.P = 24200x100_ 54 500
M.P = 20,000 Rs

Priya bought a Suitcase for Rs. 2730. The VAT (value added Tax) for this
item is 5%. What was the price of the Suitcase before VAT was added?
Wflwr ap 2730 6@ @b GHLBHerd euTHIAQMT. @&H6T H W] gl B el
5% auab. A gl G aflows CFTe@Gd (et DI Ul alenev
61601601 ?
a. Rs. 2500 b. Rs. 2600 c. Rs. 2700 d. Rs. 2800
Solution:

If the Price without VAT is 100 then the price including VAT is 105

The original price of the suitcase = %x 2730 =2600 (Rs)

A man sold two varieties of his dog for Rs. 3,605 each. On one he made a
gain of 15% and on the other a loss of 9% Find his total Cost price..
(Approximate).
QaUT el (peen @b  BHrulewer 15% @eomusHmE o 3605  HEb
Fevtell_(1peitenn  oBOmTH Hrulener 9% BULSHBGSG p 3605 &G alBmIT
aiedlleL, (BamymuwioTs) QTHS DI 5B alenevenUld HTewIH. .

9| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




EEEEEEEEEEE
NNNNNNN

a. Rs. 7096 b. Rs. 7195 c. Rs. 6995 d. Rs. 7250
Solution:
S.P of first dog = 3605
Gain =15%

C.P of first dog =

100x 3605
115
= 3134.78
S.P. second dog = 3605
loss =9%
100x 3605
91
= 3961.53
Total C.P =3134.78 + 3961.53
=7096.31
approx = 7096

PROFIT & LOSS Worksheet Answer Key

C.P of second dog =

3 4|5 67 8]9]10
B B/AJICIA|C/D A D B
11112 /13|14 /15|16 |17 |18 |19 20
D C B DA B AAA|A
2112212312425 |26|27 28 29|30
cC/ C/ B B DCACB A
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